



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 3rd Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 201					CSC 401					CSC206					CSC404					HUM201				
		Programming Fundamentals (C)					Computer Organization & Assembly Language					Data Structures & Algorithms					Database Systems					Visual Programming					Technical & Business Writing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2024-M-A-0045	Saira Tanzeel	-	-	-	-	63	C	2.0	3	6.0	51	D	1.5	4	6.0	58	C	2.0	4	8.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2024-M-B-0024	Muhammad Abdullah Waheed	-	-	-	-	85	A	4.0	3	12.0	87	A	4.0	4	16.0	75	B+	3.5	4	14.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0002	Ali Butt	-	-	-	-	66	C+	2.5	3	7.5	51	D	1.5	4	6.0	80	A	4.0	4	16.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0003	Alia Liaqat	-	-	-	-	84	A	4.0	3	12.0	81	A	4.0	4	16.0	85	A	4.0	4	16.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0004	Alishba Anwar	-	-	-	-	84	A	4.0	3	12.0	94	A	4.0	4	16.0	93	A	4.0	4	16.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0007	Anas Mukhtiar	-	-	-	-	61	C	2.0	3	6.0	37	F	-	4	-	50	D	1.5	4	6.0	-	-	-	-	71	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0009	Areeb Daar	-	-	-	-	61	C	2.0	3	6.0	43	F	-	4	-	55	C	2.0	4	8.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0012	Ayesha Ayyaz	-	-	-	-	63	C	2.0	3	6.0	59	C	2.0	4	8.0	75	B+	3.5	4	14.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0013	Bibi Kalsoom	-	-	-	-	83	A	4.0	3	12.0	81	A	4.0	4	16.0	87	A	4.0	4	16.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0014	Farrukh Gull	-	-	-	-	83	A	4.0	3	12.0	81	A	4.0	4	16.0	82	A	4.0	4	16.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0015	Hadia Rashid	-	-	-	-	67	C+	2.5	3	7.5	56	C	2.0	4	8.0	65	C+	2.5	4	10.0	-	-	-	-	71	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0016	Hamza Hussain	-	-	-	-	73	B	3.0	3	9.0	76	B+	3.5	4	14.0	75	B+	3.5	4	14.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0018	Imran Khan	-	-	-	-	69	C+	2.5	3	7.5	71	B	3.0	4	12.0	75	B+	3.5	4	14.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0020	Madiha Azhar	-	-	-	-	67	C+	2.5	3	7.5	66	C+	2.5	4	10.0	65	C+	2.5	4	10.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2024-M-C-0022	Muhammad Abdullah Rafiq	-	-	-	-	68	C+	2.5	3	7.5	71	B	3.0	4	12.0	35	F	-	4	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-C-0023	Muhammad Ahmad	-	-	-	-	63	C	2.0	3	6.0	51	D	1.5	4	6.0	39	F	-	4	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-C-0025	Muhammad Ehsham Ali	-	-	-	-	64	C	2.0	3	6.0	51	D	1.5	4	6.0	65	C+	2.5	4	10.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0027	Muhammad Faizan	-	-	-	-	77	B+	3.5	3	10.5	59	C	2.0	4	8.0	76	B+	3.5	4	14.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2024-M-C-0030	Muhammad Hashir	-	-	-	-	69	C+	2.5	3	7.5	37	F	-	4	-	34	F	-	4	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-C-0032	Muhammad Mahad Shabbir (Withthe	-	-	-	-																-	-	-	-							
B.S CS Aut-2024-M-C-0033	Muhammad Moez Hanif	-	-	-	-	72	B	3.0	3	9.0	66	C+	2.5	4	10.0	54	D	1.5	4	6.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2024-M-C-0034	Muhammad Mustafa	-	-	-	-	75	B+	3.5	3	10.5	51	D	1.5	4	6.0	70	B	3.0	4	12.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0036	Muhammad Subhan Rao	-	-	-	-	62	C	2.0	3	6.0	30	F	-	4	-	50	D	1.5	4	6.0	-	-	-	-	71	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0037	Muhammad Sulaman Nasr	-	-	-	-	72	B	3.0	3	9.0	81	A	4.0	4	16.0	75	B+	3.5	4	14.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0039	Muhammad Usman	-	-	-	-	51	D	1.5	3	4.5	37	F	-	4	-	35	F	-	4	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-C-0040	Muhammad Yasir	-	-	-	-	78	B+	3.5	3	10.5	66	C+	2.5	4	10.0	65	C+	2.5	4	10.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0041	Muhammad Yousaf Abbasi	-	-	-	-	76	B+	3.5	3	10.5	57	C	2.0	4	8.0	70	B	3.0	4	12.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0043	Noor Shahid	-	-	-	-	74	B	3.0	3	9.0	51	D	1.5	4	6.0	65	C+	2.5	4	10.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0044	Sheharyar Zafar	-	-	-	-	58	C	2.0	3	6.0	58	C	2.0	4	8.0	56	C	2.0	4	8.0	-	-	-	-	70	B	3.0	3	9.0		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 3rd Semester, Section C, Morning, Session Autumn 2025

		MT243					MTH-301					SSE 606				
		Probability & Statistics					Calculus & Analytical Geometry					Advanced Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2024-M-A-0045	Saira Tanzeel	-	-	-	-	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	
B.S CS Aut-2024-M-B-0024	Muhammad Abdullah Waheed	-	-	-	-	90	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2024-M-C-0002	Ali Butt	-	-	-	-	75	B+	3.5	3	10.5	55	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0003	Alia Liaqat	-	-	-	-	86	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2024-M-C-0004	Alishba Anwar	-	-	-	-	100	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2024-M-C-0007	Anas Mukhtiar	-	-	-	-	23	F	-	3	-	59	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0009	Areeb Daar	-	-	-	-	32	F	-	3	-	60	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0012	Ayesha Ayyaz	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	
B.S CS Aut-2024-M-C-0013	Bibi Kalsoom	-	-	-	-	83	A	4.0	3	12.0	76	B+	3.5	3	10.5	
B.S CS Aut-2024-M-C-0014	Farrukh Gull	-	-	-	-	89	A	4.0	3	12.0	66	C+	2.5	3	7.5	
B.S CS Aut-2024-M-C-0015	Hadia Rashid	60	C	2.0	3	6.0	28	F	-	3	-	56	C	2.0	3	6.0
B.S CS Aut-2024-M-C-0016	Hamza Hussain	-	-	-	-	97	A	4.0	3	12.0	71	B	3.0	3	9.0	
B.S CS Aut-2024-M-C-0018	Imran Khan	-	-	-	-	50	D	1.5	3	4.5	75	B+	3.5	3	10.5	
B.S CS Aut-2024-M-C-0020	Madiha Azhar	-	-	-	-	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	
B.S CS Aut-2024-M-C-0022	Muhammad Abdullah Rafiq	-	-	-	-	89	A	4.0	3	12.0	57	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0023	Muhammad Ahmad	-	-	-	-	50	D	1.5	3	4.5	71	B	3.0	3	9.0	
B.S CS Aut-2024-M-C-0025	Muhammad Ehsham Ali	-	-	-	-	50	D	1.5	3	4.5	66	C+	2.5	3	7.5	
B.S CS Aut-2024-M-C-0027	Muhammad Faizan	-	-	-	-	99	A	4.0	3	12.0	71	B	3.0	3	9.0	
B.S CS Aut-2024-M-C-0030	Muhammad Hashir	-	-	-	-	31	F	-	3	-	61	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0032	Muhammad Mahad Shabbir (Withthe	-	-	-	-											
B.S CS Aut-2024-M-C-0033	Muhammad Moez Hanif	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0034	Muhammad Mustafa	-	-	-	-	70	B	3.0	3	9.0	56	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0036	Muhammad Subhan Rao	18	F	-	3	-	53	D	1.5	3	4.5	51	D	1.5	3	4.5
B.S CS Aut-2024-M-C-0037	Muhammad Sulaman Nasr	-	-	-	-	75	B+	3.5	3	10.5	71	B	3.0	3	9.0	
B.S CS Aut-2024-M-C-0039	Muhammad Usman	-	-	-	-	24	F	-	3	-	55	C	2.0	3	6.0	
B.S CS Aut-2024-M-C-0040	Muhammad Yasir	-	-	-	-	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	
B.S CS Aut-2024-M-C-0041	Muhammad Yousaf Abbasi	-	-	-	-	96	A	4.0	3	12.0	80	A	4.0	3	12.0	
B.S CS Aut-2024-M-C-0043	Noor Shahid	-	-	-	-	55	C	2.0	3	6.0	66	C+	2.5	3	7.5	
B.S CS Aut-2024-M-C-0044	Sheharyar Zafar	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 3rd Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 201					CSC 401					CSC206					CSC404					HUM201				
		Programming Fundamentals (C)					Computer Organization & Assembly Language					Data Structures & Algorithms					Database Systems					Visual Programming					Technical & Business Writing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2024-M-C-0045	Sheikh Muhammad Arsalan	-	-	-	-	69	C+	2.5	3	7.5	56	C	2.0	4	8.0	55	C	2.0	4	8.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0046	Shumaila Bibi	-	-	-	-	65	C+	2.5	3	7.5	66	C+	2.5	4	10.0	65	C+	2.5	4	10.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0047	Sudais Azim	-	-	-	-	61	C	2.0	3	6.0	40	F	-	4	-	36	F	-	4	-	-	-	-	-	71	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0048	Syed Jalal Ud Din	-	-	-	-	74	B	3.0	3	9.0	59	C	2.0	4	8.0	75	B+	3.5	4	14.0	-	-	-	-	76	B+	3.5	3	10.5		
B.S CS Aut-2024-M-C-0050	Syed Muhammad Mesum Hussain	-	-	-	-	81	A	4.0	3	12.0	71	B	3.0	4	12.0	70	B	3.0	4	12.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2024-M-C-0052	Zahid Nawaz	-	-	-	-	66	C+	2.5	3	7.5	59	C	2.0	4	8.0	65	C+	2.5	4	10.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2024-M-C-0054	Saif Tanveer	-	-	-	-	90	A	4.0	3	12.0	81	A	4.0	4	16.0	85	A	4.0	4	16.0	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-2024-M-C-0140	Amman Ullah Abbasi	-	-	-	-	73	B	3.0	3	9.0	56	C	2.0	4	8.0	65	C+	2.5	4	10.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2024-M-C-0152	Mazhar Hayat	-	-	-	-	59	C	2.0	3	6.0	39	F	-	4	-	35	F	-	4	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-C-0171	Syed Maisam Abbas	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2024-M-D-0225	Pio Noor Khan	-	-	-	-	59	C	2.0	3	6.0	56	C	2.0	4	8.0	50	D	1.5	4	6.0	-	-	-	-	75	B+	3.5	3	10.5		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 3rd Semester, Section C, Morning, Session Autumn 2025

		MT243					MTH-301					SSE 606					
		Probability & Statistics					Calculus & Analytical Geometry					Advanced Programming					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S CS Aut-2024-M-C-0045	Sheikh Muhammad Arsalan	-	-	-	-	50	D	1.5	3	4.5	65	C+	2.5	3	7.5		
B.S CS Aut-2024-M-C-0046	Shumaila Bibi	-	-	-	-	80	A	4.0	3	12.0	65	C+	2.5	3	7.5		
B.S CS Aut-2024-M-C-0047	Sudais Azim	-	-	-	-	19	F	-	3	-	65	C+	2.5	3	7.5		
B.S CS Aut-2024-M-C-0048	Syed Jalal Ud Din	-	-	-	-	88	A	4.0	3	12.0	59	C	2.0	3	6.0		
B.S CS Aut-2024-M-C-0050	Syed Muhammad Mesum Hussain	-	-	-	-	80	A	4.0	3	12.0	71	B	3.0	3	9.0		
B.S CS Aut-2024-M-C-0052	Zahid Nawaz	-	-	-	-	70	B	3.0	3	9.0	61	C	2.0	3	6.0		
B.S CS Aut-2024-M-C-0054	Saif Tanveer	-	-	-	-	100	A	4.0	3	12.0	81	A	4.0	3	12.0		
B.S CS SP-2024-M-C-0140	Amman Ullah Abbasi	-	-	-	-	30	F	-	3	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-C-0152	Mazhar Hayat	-	-	-	-	20	F	-	3	-	58	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0171	Syed Maisam Abbas	65	C+	2.5	3	7.5	25	F	-	3	-	-	-	-	-		
B.S CS SP-2024-M-D-0225	Pio Noor Khan	-	-	-	-	21	F	-	3	-	65	C+	2.5	3	7.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026